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fA:

NEaMSED

BE: X R L SSNES B S0
ool X 9X L SS42 B O (el a2
SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2

O ZEH sXZeldl 30,0002 * 200 * 63l 360

O &xH sA2cldl 30,000  2CH * 53l 300

O HA KA22ldl 30,0002 * 10H = 53l 150
202 O Hl 10,240 10,240 0
01 =W HI 10,240 10,240 0

OO0l SRS 80,000& » 2% * 64 10,240
301 LEtE A Z 1,400 0 1,400
10 HALAHIE &3 1,400 0 1,400

O XS AE2Q ANE 22 & ENRI &2 4G SAMS 7,000& = 2098 = 103 1,400
405 X+obE S| 1,500 0 1,500
01 XA =S HSHI 1,500 0 1,500

O ox 7 250,000 = 204 500

O CXETV =40 2 1,000,000& = 1CH 1,000
HE2LZH(MSAMRL) 11,911 11,712 199
ol 2| 9,351 9,312 39
QAU (MEAR L) 9,351 9,312 39
101 I 24| 9,351 9,312 39
01 2= 9,351 9,312 39

O zu2f< 9,351

O A2tz 9,740 * 2H = 40AI2F « 123 9,351
Jl 23l 2,560 2,400 160
Jl2d3dl(MSMRa) 2,560 2,400 160
203 =&l 1,360 1,200 160




SN ASARA
Hi: HHSAAU (MSARA)

Ehelr D122l (2l &®H)
SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
02 RJtatE =& H| 160 0 160
O X3 A& E 80,000& » 2% 13| 160
04 EM2IELRFTH 1,200 1,200 0
O MESAMEL 100,000& * 12E 1,200
204 AR FH| 1,200 1,200 0
01 MR 1,200 1,200 0

0 AEMRAE 100,000& =+ 123 1,200




